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LX) 22 42,001 0 42,001
401 AlEHIZL 201 Y| 42,001 0 42,001
01 A& H| 41,547 0 41,547
O MXPEX DAN OE BH 249
22,000,000 = 98.92/100 21,763
O LHALER E dHETHO S22 37 AAl
20,000,000 = 98.92/100 19,784
03 Al 201 Y| 454 0 454
O &XZeAMY =& 20|
42,000,000 = 1.08/100 454
B2MHDZ2R(HEH 600,000 0 600,000
o 600,000
401 Al HI L 204 HI 600,000 0 600,000
o= 600,000
01 Al&H| 598,380 0 598,380
O E24HH 028 ZHEAY
600,000,000& * 99.73/100 598,380
= 598,380
03 Al 201 Y| 1,620 0 1,620
O E24HHI0tZ2d =HEAY
600,000,000& * 0.27/100 1,620
o= 1,620
B2AH 02 (XA 600,000 0 600,000
401 Al HI L 2 0HHI 600,000 0 600,000
01 Al& H| 598,380 0 598,380
O ES24H 03 XEAY
600,000,000& * 99.73/100 598,380
03 A& E20HH| 1,620 0 1,620
O E24HH 028 LAY
600,000,000& * 0.27/100 1,620
S 2AHOZR(2H]) 121,537 0 121,537
401 AlEHIZ 2 0HY| 121,537 0 121,537
01 Al& H| 121,537 0 121,537
O 224 HOZEE ZHAY EXOHEY
62,5008 = 400m 25,000
O E24 HOOZEY ZAHAIYE MEHEEEHS
300 = 59,812m" * 2.5 44,859
O E24 HOEY THAYE sAdsS2EE2
864 * 59,812m 51,678
HESHAH| (ol a2l ) 45,380 45,380 0
Jl2Z 8l (o LAt ) 45,380 45,380 0
Jl 22| (ol LIHE) 22,380 22,380 0
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